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FN 5.5 : Corporate Financial Management

Time : 3 Hours Max. Marks:70

lnstruction : Answer should be written completely in English or in
Kannada.

SECTION _ A

l. Answer the following any 5 questions, each question carries two marks. (5x2=10)
1) a) Differentiate between Financial Risk and Business Risk.

b) What is Risk Analysis ?
c) State the formula for determining the value of shares as per

MM Approach.
d) Define the term of Capital Budgeting.
e) What do you mean by stable dividend ?
f) What is financial planning ?
g) What is optimum capital structure ?

SECTION _ B
ll. Answer the following any 3 questions, each question carries 5 marks" (3x5=15)

2) Explain the Gordon's theory of dividend policy.

3) Briefly explain the irnportance of capital budgeting.
4) What are the objectives of cash management ?

5) The Amogha Company belongs to risk class for which the appropriate
capitalisation rate is '10%. lt has currently has 100000 shares selling at
t 100 each. The firm is contemplating the declaration of Rs. 5 as dividend
at the end of current financial year, which has.iust begun. What will be
the price of the phare at the end of the year, if dividend is not declared ?
What will be the price if it is declared ? Answer on the basis of MM model
and assume no taxes.

6) The following information is available in respect of Laxminarayana Ltd.
Return on investment {Q = 10"h
Earning Per Share (EPS) (E) = 160
Determine the value of his share using Gordon model. Assuming the
following:
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SECTION _ C

lll. Answer the following 3 questions, each question carries 12 marks. (3x12=36)

7) Briefly explain the factors which influence the planning of the capital
structure of a company.

8) What is "Decision Tree Analysis" ? Explain the steps you take for
constructing a decision tree.

9) Briefly explain about MM Approach.

10) Prepare cash budget for January to March from the following information :

Particulars Nov. Dec. Jan. Feb. March
Sales 2,00,000 2,20,AAA 1,20,000 1,00,000 1,50,000
Purchases 80,000 70,000 75,000 50,000 60,000
Wages and salaries 30,000 30,000 24,AA0 24,000 24,000
Miscellaneous
expenditure 27,000 27,000 21,000 30,000 24,000
Other information :

i ) 20% sales are on cash and balance on credit.
2) Credit sales are collected in the month following month of sales.
3) All purchase are on credit and 2 months credit is given by supplier.
4) Lag in payment of wages and salaries one month.
5) Debentures wofth Rs. 50,000 sold in January.
6) Cash balance at the end of December is Rs. 60,000.

1 1) Given the following information :

Particulars SLimited WLimited
EBIT T1,20,000 {1,20,000
12% Debentures { 3,00,000
Tax rate ,*, 40To 4Ay"
Equity capitalisation rate 18%
Compute the value of S limited and W limited using Nl approach and
NOI approach.

SECTION - D

lv. Answer the following, question carries nine marks. (1xg=g)

12) Prepare a list of Corporate Financial Strategies.

OR

Briefly explain Corporate Strategies and Levels of Strategies.
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(5x2=10)

(3x5=15)
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